
Abbreviations: 

ch= chain;   sc= single crochet;     dc= double crochet. 

Pattern Instructions: 

Make a multiple of 14 chains plus 1 chain. 

Row 1: ch 3, 1 dc in 5th ch from the hook, ch 3, skip 3 ch, 5 sc, 3 ch, skip 3 ch, 2 dc, *1 dc,  ch 3 , skip 3 

ch, 5 sc, 3 ch, skip 3 ch, 2 dc*; repeat *-*. 

Row 2: 3 ch, 3 dc in space of 3 ch of previous row, 3 ch, skip 1 sc of previous row, 3 sc in next 3 sc of 

previous row, 3 ch, 3 dc in space of 3 ch of previous row, *ch 1, 3 dc in next space of 3 ch of previous 

row, 3 ch, skip 1 sc of previous row, 3 sc in next 3 sc of previous row, 3 ch, 3 dc in the space of 3 ch of 

previous row*, repeat *-*, 1 dc (in “ch 3” of previous row). 

Row 3: 6 ch, 3 dc in space of 3 ch of previous row, 3 ch, 1 dc in 2nd sc of previous row, 3 ch, 3 dc in 

space of 3 ch of previous row, 3 ch, 1 dc in 1 ch of previous row, *3 ch, 3 dc in space of 3 ch of previous 

row, 3 ch, 1 dc in 2nd sc of previous row, 3 ch, 3 dc in space of 3 ch of previous row , 3 ch, 1 dc in 1 ch 

of previous row*, repeat *-*, make the last dc in “3 ch” of previous row. 

Row 4: 1 ch, *2 sc (1 sc in dc of previous row and 1 sc in ch space of previous row),      3 ch, 3 dc in next 

ch space , 1 ch, 3 dc in next ch space, 3 ch, 1 sc in next ch space*, repeat*-*, 1 sc. 

Row 5: 1 ch, 1 sc, *2 sc (1 sc in sc of previous row and 1 sc in ch space), 3 ch, 3 dc in 1 ch space, 3 ch, 3 

sc (1 sc in next ch space and 2 sc in next 2 sc of previous row)*, repeat *-*. 

Row 6: 1 ch, *2 sc, 3 ch, 3 dc in 3 ch space, 1 ch, 3 dc in next 3 ch space, 3 ch, 1 sc in 2nd sc of previous 

row, repeat *-*, 1 sc. 

Row 7: 6 ch, 3 dc in  3 ch space of previous row, 3 ch,1 dc in 1 ch space of previous row, 3 ch, 3 dc in 

next space of 3 ch, 3 ch, 1 dc in 2nd sc of previous row,* 3 ch, 3 dc in 3 ch space, 3 ch, 1 dc in 1 ch space, 

3 ch, 3 dc in next space of 3 ch, 3 ch, 1 dc in 2nd sc of previous row*, repeat *-*. 

Row 8: ch 3; 3 dc in 3 ch space of previous row, 3 ch, 3 sc (1 sc in 3 ch space, 1 sc in dc of previous row, 

1 sc in next 3 ch space), 3 ch, 3 dc in next 3 ch space; *1 ch, 3 dc in next 3 ch space, 3 ch, 3 sc (1 sc in 3 

ch space, 1 sc in dc of previous row, 1 sc in next 3 ch space), 3 ch, 3 dc in next ch space*, repeat *-*; 1 dc 

in ch space. 

Row 9: ch 3, 1 dc in last dc of previous row, 3 ch, 5 sc (1 sc in 3 ch space of previous row, 3 sc in next 3 

sc of previous row, the 5th sc in 3 ch space), 3 ch, *3 dc in 1 ch space, 3 ch, 5 sc (1 sc in 3 ch space of 

previous row, 3 sc in next 3 sc of previous row, the 5th sc in 3 ch space), 3 ch*, repeat *-*; 2 dc in “3ch” 
of previous row. 

Repeat the pattern from row 2 until you reach the desired length. 

 


